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Anything that serves to guide or direct to the solution of a problem is called…… .

clue issue concept challenge

1-

1. 2. 3. 4.

The letters ‘ t ’ in the word ‘ often ’ and ‘ k ’ in the word ‘ know ’ are not……. .

seen spelled written pronounced

2-

1. 2. 3. 4.

One of the following words has three word elements. Find it.

act reaction reactions reactivity

3-

1. 2. 3. 4.

You will be able to ……. or guess the meanings of many words by learning the meanings of the

most common prefixes and suffixes.

recognize recognizes recognized recognition

4-

1. 2. 3. 4.

The prefix ‘pre-‘ in the word ‘prefix’ means……. .

not after before again

5-

1. 2. 3. 4.

Be sure to answer all of the questions as carefully……you can.

so as than from

6-

1. 2. 3. 4.

The manager stated his view differently but it amounts to the same thing. ‘Amounts to’ means……

.

increases decreases equals to reduces

7-

1. 2. 3. 4.

The passengers could not reach their destination thanks to the heavy traffic. ‘Thanks to’ means……

.

because of instead of although happier than

8-

1. 2. 3. 4.

Our teacher summed up the discussion in a few sentences. ‘Summed up’ means…….. .

enlarged expanded developed summarized

9-

1. 2. 3. 4.

The expressive power of language is enormous, and every time a word acquires a shade of

meaning, the richness of the language is enhanced. ‘Enormous’ means……. .

a little slightly a bit very large

10-

1. 2. 3. 4.

Do you know the …….. between a car that is made in Iran and a car made in Japan?

different difference differ differently

11-

1. 2. 3. 4.

Many young people indulge in playing football. ‘Indulge’ means…… .

reject prevent enjoy avoid

12-

1. 2. 3. 4.

The employer …….. the conference held in London last month.

participation participated to participate to participates

13-

1. 2. 3. 4.
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Being able to speak English gave John a ................................ over the other memebers of the

team.

head start concept detail accent

14-

1. 2. 3. 4.

This is different from skimming in which we are looking for specific information. ‘Which’ refers

to…….. .

we different skimming information

15-

1. 2. 3. 4.

Please …… your supervisor before leaving the company.

informs informed information inform

16-

1. 2. 3. 4.

Barbara looked the word up in a dictionary; so “look up” is a(n)…….. .

Ph v adverb noun adjective

17-

1. 2. 3. 4.

The places which are unpleasant to be are called………places.

hospitable inhospitable pleasant pleasurable

18-

1. 2. 3. 4.

The important point is that you have to read all the details in this passage. ‘Have to’ means…… .

must mustn’t shouldn’t ought not to

19-

1. 2. 3. 4.

You should refer to the context within which the word is used. ‘Within’ means……. .

in out after without

20-

1. 2. 3. 4.

The teacher has corrected his mistakes.

His mistakes ……. been corrected by the teacher.

has are have were

21-

1. 2. 3. 4.

The news ……. on the front page yesterday.

appear apparent apparently appeared

22-

1. 2. 3. 4.

The first …….. in the word ‘sentence’ is stressed.

suffix letter syllable hyphen

23-

1. 2. 3. 4.

There are three kinds of dictionaries: abridged dictionary, .…….. dictionary for university students,

and unabridged dictionary.

pocket very large comprehensive college-level

24-

1. 2. 3. 4.

The words ‘skinny’ and ‘slender’ have the same denotative meaning “thin”, but they differ in

connotative meaning. ‘Skinny’ has……association.

positive negative neutral affirmative

25-

1. 2. 3. 4.
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They are going to ….… the new building through Google.

located location locate locational

26-

1. 2. 3. 4.

He is studying different subjects, e.g. mathematics, physics, and Persian language. ‘e.g.’ means…….

.

that is for example although and so on

27-

1. 2. 3. 4.

They would come to the meeting if they ……..the exact date.

knows known to know knew

28-

1. 2. 3. 4.

In the sentence “The man was repeating that crying was not the answer for that situation”, the

gerund is…… .

the man repeating crying situation

29-

1. 2. 3. 4.

The assessment of management training is more difficult than that of employees’. ‘Assessment’

means……. .

evaluation assistance hierarchy romance

30-

1. 2. 3. 4.
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